STAR

4

T0L—F

B @M X
WPI—K K 46264
it a8 TGR5410
ERERHLARELE TGR5410-02

- BmCIEN DR, U Emtidinle SR TS,
+ AR mO—ERICIE, FEH - Ly MEFTOHDE@mHBOET

EHIHIA Y —

T



G

=

BEmD ZEXICDONT

1. oD TEXOBE, TLEE % JEEL 2

SN

O #H @ &

@ &bl (B0
@ & m &

@ HmES

® & #®

MR IMRARRES L URKICIESD
R—LTUL—PMZRRLTOLET,

2. B oR - iE. IToc ti2RLTEBY
7,
Hevaigl| flddEnTo s EMARE
Bxwck Rz,

A7yt BiCEEh 385 BETiR
BEES L 78 W EB S

HIEBROBRERICDOOT

C OGO FHERRSOMGER GRD 3.
BIEITHUI0 % 9 FE T, 7272 L. HHEERANT
BTy BHESEICOWTIRIEL &% Sl
THTOWEEESLLD 4,

FHEREOME FHANIC 3 Lo BFERT
BT LET0, HHAERBERER TH>TH. M
BAE D TEFED D - G E B & Ok ic o
WTTHEERTW L EE T,




TGRb410 Y vMOlL—F

2P7 L—LA
4
13381
065-0018-1001
RhES WaHS il o PR {EEse fi§ =z
1 1262450003 2P 7L —4CP 1
2 1262461003 o—7YvIrI7sry b 2
3 ONAS6 JY—R=y 7N A M6 2
4 000011300M =y Rl IV 7 A || 2
5 NAA24150 F v b 4 1o M24X150 2
6 WSA24 NEFEHER 3T M24 2
7 087816200M v 2
8 000739000M yryFEy;9 2
9 126416000M JaAvbuh 1
10 044097200M Ty ¥r ;8 1
11 PC032016 7Y EY 3.2X16 1
12 000739000M JyyFEY ;9 1
13 1172720000 Z N 350~540rpm 1
14 1061640000 SN h4ay 1 1
15 KMS011 THFavFey 7 11 2




TGR5410 2+

A1Ab—%+

ALV TU—L Do DFTU—Lh - NV vk

I
065-0018-1011
RHEES| HEREFES B AT % A B fi
2 ONA6 TYV—X=w NV A M6 1
3 1271650004 2 % v FCP; [LJ1150 1
4 044606200M 16 +¥yR—-—prEYV 1
5 00739000M JUyFEY 9 1
6 CAP050050 F 5 v 7 H0X50%2.3 1
7 0446221000 YawlTF7YV—N B 2
8 044623000M Vawd T T —NEHR 2
9 044617100M T — 2
10 WRAQ08 ESH¥H R M8 2
11 BSZ08030 aFyELE 7T M8X30 2
12 WSAO8 NERYEHF 339 M8 2
14 BZ16045 R b 8.8 Ml16x45 8
15 WSA16 NAFEH R 3Ty M6 8
16 NZ16 Fw b 8 2¥a Ml6 8
17 0009420000 NV Y NIV D 2
18 BSZ08020 afyENVE T M8X20 4
19 NSP08 AHFIRFY)ITFy b 4 M8 4
20 080414100M Ty Ve ;8 4
21 1232820000 SGNRN; ANSAT 4
22 13397800000 STAR~—7 5 X140 2
23 1273980000 5~V 5400 2
24 0009350000 K& 5 ~ov ; R—70100SQS 2
25 1064730000 RV . 2=} 1




TGRb5410

eyA0Olb—F
ALY TU—h eS8 TU—h - NUY vk

HEITHR
3= I 24
I
065-0018-1011
RAEE] @B S w2 & B B i =

26 1064740000 ANV - =i 1
27 1064750000 AV - ==3} 1
28 1285810003 IA T —5LAY YV KECP 1
29 BZ12025 Rk 8.8 MI12X25 3
30 WSA12 NEHFHER 3Ty MI12 3
31 042783600M Ty ;12 -3
32 1339070000 STAR—27 5 ;40 (v v Ew#+) 1




TGR5410 >
RFTYY

=2

[133832 ]

065-0018-1002 8
RiEs Ha&EFS B fn # i %k ]
1 1272343003 %7 b CP;2P 1
2 BZ12035 FU b 8.8 MI12X35 2
3 WSA12 NRYHF 8TY M2 2
4 127238000M A7 — 5 30X78.5 1
5 1263150002 <A 7 F¥ ;19T 1
6 046001100M Ty ¥y ;20 1
7 NC2L20150 Froy RIFwy b 2V k7 M20X1.50 1
8 PC040032 TY)EY 4X32 1
9 0740560002 <4 & F¥ ;19T 1
10 1272401003 RFTY v Iy 7k ;5400 1
11 JAS206 =y bI3IXTY S AS206 1
12 | DHCO062 CHzrv27 77+ 62 1
13 | 0699871000 ¥4 30.56%0.2 -
14 1214330000 Ty 1
15 | BSZ08040 aFmy Rt T M8X40 2
16 | NNF08 75vVPF4avFy b M8 2
17 | 044097200M P 2
18 | JASPFL206G | X7 Y v 7 2=y I ASPFL206 1
19 | BSZ10035 aFmy R T MI0X35 2
20 | NSZ10 aHZyFy b 8 2¥a MIO 2
21 WSA1L0 NEYHER 3T MIO 2
22 | 073444000M DN -
23 1263240003 Rz 1
24 | BZ16080 R b 88 MI16X80 1
26 | NZ16 Fv b 8 2¥a2 M6 1

|
[T
|




TGR5410 %

AFT7IV T

10bL—F

g
065-0018-1002

RES T aES B i % PR 8% T £
26 WSAl6 NR¥EHX 3T M6 1
27 106142000M oy K CP 2
28 RBL16BD Yy R—-n RBLAS *2R M6 2
29 RBL16BDL ) vy R =N RBLHF% +*X L M6 2
30 NZ16 +v b 8 2¥a MIl6 6
31 WSA16 NERPEHFX 3T M6 4
32 0887970000 Yayw T T =N 2
33 WRAI16 EI¥H R M6 4
34 PC032032 7YYy 3.2X32 2
35 1272640003 F¥AHN-=CP 1
36 BSPZ08016 afy SWyFELEr 7 M8X16 4
37 WRAO8 ESHHx M8 4
38 0599861000 v 30.6%X0.1 —
39 131961000M S A 1
40 TRK08020 6hxxvY 109 &I M8X20 1
41 NSZ08 avyFy b 8 2va M8 1




TGRb410 v AL—F%
e cINT (Y

RES BEES i an # i) % & =l
1 1025314003 NTYFFAL =¥+ 7 CP; L 1
2 1025304003 NTyFEL—-N¥ e 7 CP;R 1
3 000871000M R A —=F v b MI6X15 10
4 102543000M #15 —; 50.6X31.5 2
5 J6010LLU K= ~x71 7 6010LLU 2
6 J6208LLU R =7 Y s 6208LLU 2
7 DHC080 CHstrxm7 77+ 80 2
8 077984000M 7y ¥ ; 55X 25.5X6 2
9 000712000M Fo v ANWF b M24X1.5 2
10 | PC040032 JYEY 4X32 2
11 000416000M * v 7580 2
12 | 0008730004 N7 5 F62X80 2
13 | J30206 F=ta—5 X7y vy 30206 2
14 | J30208 F=NXo—5X7 Y s 30208 2
15 | 0008740000 V=T oy Ve 40X80 2
16 | 000712000M F v RNFy b M2UX1E 2
17 | PC040032 7YYy 4X32 2
18 | 000415000M Fr v 762 2
19 | 000870000M F b M16X1.56X45 10

ASY | 0008550000 %4 +v AS; 7.00—12—6PR 2
21 | 0003780000 %4 ¥;700—12—6PR 2
22| 0003850000 Fa—7;700—12 2
23 | 008530000 wA = bIX12 2




TGR5410 2+

10—+

PIC+T7 bk« FPEKRKyIX

=2
/ FS9 2481
065-0018-1003
RHES| ®WmEFS i i) %4 PR % & #

1 JWMOBLASY | ¥7—YaAf v+ WM—65 1
2 1272270003 7 ¥y v% 7+ CP 1
3 JCS207LLU =y baYXTY vy CS207TLLU 1
4 DHCO072 CHAs s 29 7+ T2 1
5 1274000003 7 5%y k CP 1
6 BSZ10020 aFgRNE T MIOX20 4
7 WSA10 NRYFEHFR 3TT M1 4
8 0008270000 PIC #/— ;3 1
9 BZ06016 Fovh 88 M6X16 3
10 WS06 NERYFHR 29 M6 3
11 028833200M Ty ¥ey ;6 3
12 0000963000 PIC*+ v 7 ;35 1
13 1274070003 Z3—= L 1
14 1274050003 H13—CP; R 1
15 BSPZ08025 akFy SWyFHRbh 7 M8X25 4
17 BSPZ08016 akgy SWyFKRur 7 MBXI16 7
18 WRAO8 ES¥EHR M8 11
19 0838876003 AAVFYRy 7R
20 1263230003 75V
21 BZ12040 T b 8.8 MI12X40
22 BZ12030 Rk 8.8 MI12X30
23 WSA12 NERFEHFR 3Ty MI2 12
24 0796480002 AUV F Y ; MESX20T 1
25 0843410002 NV F R MbLEX 20T 1




TGR5410
PIC’/?7I‘ cFrYRy IR

rAObL—F

LFES
~ FSO 54
065-0018-1003
Ritgs HamEFS # ) i) 8% i %

26 | 0838853002 PICY+ 7 & 1
27 1264990002 Y47 b 1
28 | 0873780002 A 1
29 | 0925961000 — ;10X8X%35 1
30 | J6207TLLU R=x71) 7 B6207LLU 4
31 D407210 ANy = DAOXT2X10 1
32 | D356210 A4 NVv—i D35EX62X10 2
33 | DHCO072 CHhsrvxw 7+ 72 1
34 | 0008230000 PIC #/x— ;1 2
35 0003480000 7Y =Rk 1
36 | 0003280000 Ny F v 1




TGR5410

10—+

YT TU—L4 - H—K

Rigs| Hm&ES B fm &4 i} fEEL 1 &l
1 1270840003 771 —=4CP;L 1
2 1270940003 +77v—=4CP;R 1
3 1271790003 a—%575%5y +CP;L 1
4 1271850003 vu—4%73/7y+CP;R 1
5 ONAG6 JY—R=y TN A M6 2
6 127221200M ¥ CP; 35X150 2
7 ONAS1 7)) —R=yFNV A PT1/8 2
8 049533000M 7 v ¥+ ;30.0X6 2
9 WRA24 EI¥a R M24 2
10 NC2L.24200 FrwRWFw b 2¥aks M24X2.00 2
11 PC050036 J)EY 5X36 4
12 076377000M 7y Y ;25.5X9 2
13 WSA24 NRYFAR 3TY M24 2
14 | 000712000M FroRNWF vy b M2UX1H 2
15 BZ12035 A b 88 MI12X35 4
16 WSA12 NERYHAR 3T M2 4
17 BZ14040 Fok 8.8 MI14x40 4
18 WSAl4 NRYAX 3Ty M4 4
19 1294630004 77— ¥ CP ; 5400 2
20 BZ12035 Foh 8.8 MI12X35 8
21 WSA12 NRYFEHFX 3T MI2 8
22 NZ12 Fv b 8 2¥2 MI2 8
23 CAP027228 Frov7 27.2X28 4
24 CAP034032 Frwv7 34.0X3.2 2




TGR5410 2+

f4ob—=%

YA F7—AL-A—5T—L-O0—% (k)

iﬂ

Z

3
3

14

13387-1

065-0018-1012

NHA TRy 7 A

RiEs| HmES # an % i) ks ]
1 1294610003 o—%7L—5uCP 1
2 1160560000 E=4vv+7 rCP 1
3 BZ14040 R b 88 MI14X40 4
4 WSA14 NRFEHFX 3Ty Ml4 4
5 0008230000 PIC /85— ;1 1
6 JT48A040ASY | /Y7 =V a4 b TL4BA—40 1
7 1294471003 Fro—=x 1
8 ONA6 ) =R=w 7NV A M6 1
9 J6007LLU K—=~7Y v 6007LLU 1
10 | J6208LLU R— 7Y 7 6208LLU 1
11 | DHCO062 ChHsrvxg T+ 62 1
12 | DC040 CHszbrxy U7 40 1
13 1263040002 o—7F¥ ; MA5XH5T 1
14 1264550003 0= 7 —bNuIVy 1
15 1263190003 O—gNg Iy 1
16 | BZ12035 Fvr 88 MI12X35 8
17 | WSA12 NRYH R 3Ty MI12 8
18 1265180002 o—4% Y%7t CP 1
19 | KFC10080500 | ~f a3 v +— Uz v=iv 10X8X50 1
20 | KFC10080600 | ~fav+— Yav=/i 10X8X6E0 1
21 1270400000 ~NagF— Yav=i 10X8X110 1
22 126517000M AvroysFy b MOXLS 1
23 | J6210LLU R—=nx7Y v 6210LLU 2
24 | D608212 ANy —iv DB0X82X12 2
25 | DHC090 CHsrx7 7+ 90 2

|
—
()

|




TGRb5410

JyAOb—F
A T7—L - -OA—97b—L-O0—% (K)

RUES| HERES B o % i3 B # %
26 0341931000 DN —
27 0340191000 DA —
28 1263210002 7145 L 1
29 | 1265160002 V=5 - 1
30 ORGO050 oOvvsy G-50 1
31 | 1265041000 T—LYe 7 b 8
32 D35488 AWy =) D3bX48X8 8
33 | 0570410002 #15— ;35 7X11 8
34 0878410002 u—357—4CP 8
35 PS120050W A7) vy F7nav 12X50 16
36 PS080050W A7)y F7uag §x50 16
37 BSZ10030 aFyENr T MI0X30 12
38 | WSAIO NERFEHF 3T MIO 12
39 071843000M 7y ¥+ ; 355X3.2 8
40 | 1265050003 7 — sk CP 8
41 ONAG6 JI)—R=y 7NV A M6 8
42 112897000M oy hsTFTS5; PT3,8 2
43 | 000338000M M107 5 7 2
44 0003390000 Ny Fy MIOTS7EY) 2
45 1265000004 g4 v7—5LCP; L 8
46 | 0971060006 LR 24
47 076390000M A VHFHTER ;U 24
48 BZ12075 Fb 88 MI2XT5 24
49 NZ12 +w b 8 2¥a2 M2 24
50 | WSA12 SNEHFHF 3Ty MI2 24
51 067931100M Ty ¥y ;12 24
52 WRA12 ESHFAR M2 24
53 000739000M DYFEY 9 8
54 0971500000 S~ L 8
55 BZ12020 Fr o 8.8 MI12X20 8
56 | WRA12 ES¥AR M2 8




TGR5410 P vAMROlL—F
A7 —L A=Y TU—A - O0—% ()

=0

34 @50

33 a9
EITAR 31
S~ P a
13388-1 0—42 EEEHE
065-0018-1013
REs MEES i o & PF %L {id )
1 1294610003 o—4%7L—4CP 1
2 1160560000 vY=4vv+7 b CP 1
3 BZ14040 Fov b 88 Mil4x40 4
4 WSA14 NERHEHF 3T M4 4
5 0008230000 PIC #/N—; 1 1
6 JT48A040ASY | »¥7—Y a4 ¥~ b TL4SA—40 1
7 1294471003 F¥ir—2 1
8 ONASG6 JY)=R=y 7N A M6 1
9 J6007TLLU K=Nx71 7 600TLLU 1
10 | J6208LLU R—~7 ) vy 6208LLU 1
11 | DHCO062 CHs b 27 TF+ 62 1
12 | DC040 CHZb AT VI 40 1
13 1263040002 o—47 ¥ ; M4.5X55T 1
14 | 1264550003 O—§ 7 —ANy Iy 1
15 1263190003 D—gNnYg Iy 1
16 | BZ12035 Kb 88 MI12x35 8
17 | WSA12 NRHFHR 3Ty MI12 8
18 1265180002 v—%v+7FCP 1
19 | KFC10080500 | ~A 29+ — Haw=i 10X8X5) 1
20 | KFC10080600 | ~1 a9 +— Yaw=i 10X8X60 1
21 1270400000 NAaTFE— Yavwib 10X8X110 1
22 126517000M AYXaygFy b MBOX1.5 1
23 | J6210LLU R—~x71Y v 6210LLU 2
24 D608212 Ay —i DBOX82X12 9
25 | DHCO090 CHs b AT TF 90 2

|
T



—
TGR5410 Y v»qfOlL—% |
GAF—L -O—%7—L4L -O0—% ()

AHEE| S RFS =l i % i L & %
26 | 0341931000 v -
27 | 0340191000 oL -
28 | 1263200002 A5 GR 1
29 | 1265160002 S5 — 1
30 | ORGO50 OUvs G-50 1
31 | 1265041000 T T b 8
32 | D35488 A4y —L D35XABXS 8
33 | 0570410002 55— 85.7x11 8
34 | 0878410002 o—57—4CP 8
35 | PS120050W 2FY Iy FTuay 19x50 16
36 | PS080050W 2FYVIEY FTuag §x50 16
37 | BSZ10030 IASENLE T MI0X30 12
38 | WSAL0 NEFHZ 3Ty MIO 12

39 | 071843000M 7w ¥y ; 85.5X3.2 8
40 | 1265050003 7 — & vy CP 8
41 | ONASG ) —=2=y 7NV A M6 8
42 | 112897000M OwhsTFT 5 PT3/8 2
43 | 000338000M M7 5 & 2
44 | 0003390000 Ny Fky MIOT 57 aYy) 2
45 | 1265020004 44 v7—ACP;R 8
46 | 0971060006 g4 24
47 | 076390000M g4 VFHF ;U 24
48 | BZ12075 b 88 MI2XT5 24
49 | NZ12 Fy b 8 2¥a MI2 24
50 | WSA12 NEHH X 3Ty MI2 2%
51 | 067931100M Ty Ve ;12 24
52 | WRAI2 ES¥HR MI2 24
53 | 000739000M JyYFEY 9 8
54 | BZ12020 Fh 88 MI12X20

55 | WRAI12 Es¥HR M2




TGRb410 U +AObL—F
TRV« ey

~—
8 T
T
065-0018-1014
RiEs H&ZES #B an & i 8% T
1 126650000M NV RN — 2
2 000716000M VoN— T 2
3 BXI06040 Foh 109 € M6x40 2
4 NNF06 73vYF4avry b M6 2
5 PS080032 RFY VI  8X32 2
6 126652000M ¥+ 7+ CP 2
7 1266550004 77 ANLCP; 1 2
8 J51205 AFRAbPXTY 7 51205 2
9 126651000M Ty ¥ ; 2TX12 2
10 | PS080063 A7) v rEY 8X63 2
11 | ONA6 J)—R=9 7NV A M6 4
12 126662000M w4 =¥+ 7 CP 4
13 126663000M 717 — 5 35.7X65 4
14 | BSZ10060 aFgyFEvr T MIOX60 4
15 | WRA10 I H¥Ax M10 4
16 | NNF10 77vIF4vrFy b MU0 4
17 | 0812241000 71 %¥ ;16X6.50—8—4PR 4
18 | 0794540000 Fa—-7 4
19 | 081225000C F 4 —J;5.375IX8 4
20 | J6205LLU K—x7 1) 7 6205LLU 8
21 | 0812260000 A7 - 4
22 | 000532000M Frov7 4
23 | 000762000M Frov 4
24 | 072968100M 7w ¥y ;14 4
25 | NZ14 Fv b 8 2¥a MU 4

l
-
l



TGRb5410

JeMAOb—%

TORI ey

T~
8 Tre—
Te
EITAR
/
13389-1
065-0018-1014
RS Hm&ES i st R B 1 l
26 | WSAl4 NEHFHR 3Ty M4 4
ASY | 1283510000 %1% AS; 16X6.50—8—4PR 4
27 | 0006870000 =F1Y ;16 2
28 | WS06 NERYHX 299 M6 2




TGRb410 T vAOL—F*
Oyo « 7Y

5%
13380
065-0018-1015
RWES WRES : 8 i % i 1% 1 %z
1 1271961003 oy 7 7L—b 2
2 BSZ10065 aFyFENES T MIOX65 2
3 NSZ10 anyFy b 8 2¥a MIO 2
4 127197000M 15— 205X%X12.5 2
5 BXTI10040 Rb 109 ¥ MI0X40 2
6 NSZ10 afmyFy b 8 2¥a MIO 2
7 BZ20065 A 8.8 M20X65 2
8 NN20 FA4vvry b M2 2
9 085861000M 27N T 2
10 079496100M 4 Fo—nCP 2
11 044617100M N o — 2
12 BSZ08040 amyFRE T M8X40 2
13 WRAO08 ESHEHTE M8 4
14 NSP08 ARBFRTY T+ 9 b 4 M8 2
15 0960990000 74 % CP; 2x1750 2
16 087971000M TAvay s 2
17 0858621000 o —7 5 6X3500 2
18 |1264580106 L) v & CSO50X 240 X 580 2
19 127223000M v CP; F25X163 2
20 BSZ10035 afFyELN 7 MIOX35 2
21 NNF10 75vVFrAnvFy b MIO 2
22 WRA10 Es¥H % M0 2
23 060807100M Ty ¥y 2
24 PC050036 7YY 5X36 2
25 127220000M v, C25X135 2

|
T



TGRb410 Y vAOL—F
Ay -7

RES HRES R b % R %k 1 %
26 | 093399000M f5— 5 25.5X12
27 | 060807100M Ty ¥y
28 | PC050036 7YEy 5X36
29 | KHO0601250AP | 27wk —2 3,/8x1250 1—4
30 1033 - 06 Hf—2z LK PF38xXPT3,8
31 2088 - 06 ARARZIR PT3/8
32 105166000M 7w vy PF3/8XPT3,/8 HRT v bT
33 1346200000 Tvvav)avyNy;3/8-02
34 | BZ06050 Fv b 8.8 M6X5H0
35 | WS06 NRYFHR 299 M6
36 | WRAO6 ESY AR M6
37 | 1013 - 06 t—2R=y 7)) PF3/8XPT3,/8

38 | KHO604000AP | 27 vk —2x 3,/8X4000 1—4
39 2081 - 04 - 06 7y vy PT1/4XPT3,/8
40 112156000M YRYXY 14

41 2083 - 04 =y 7N PT1/4

42 0009280000 RMyTNNT 14

43 2083 - 08 - 04 =y 7 PT1/2Xx1/4

44 | CLF40M A7T5 AR PTL/2

45 0007781000 NTTF YT 12

46 | 0887210000 AN GNVF 2a—7T

47 | ILT200 Avvavy 74 47X202

48 | 127249000M 75w b
49 | 066672500M A4 R
50 | 057788100M DN

N T N e B e I B S T B N I e e e e e [ SR T SN e e e e e T B R NS SR NCRE SC R BT GO SO I N3 I N3 YN VN BN

51 | DC020 CHsr 29 Y7 20

52 | 098624000M F o VRV

53 BSPZ08020 azy SWyFKRUE T M8X20
54 | WRAQ8 EIY¥YAEX M8

55 102553000M F =24 K=} CP

56 | BZ12025 R b 88 MI2X25

87 | WSA12 NRYFHEX 3Ty M2

58 | WRAZ20 ES¥HAR M20

o9 | ILT380 A vvamy 74 TbHX382




TGRb5410

KT K28
13457-1
At%Es HRFS il AT 7 %Kk I
1 1369770000 Y s v 2
2 1414530000 a— F; 7000 X 1500 1
3 1125540000 THE—NWEY 12V 1
4 ILT200 A vvaayw 4 47X202 11
5 1172730000 FadHhVN—KRR 1| A7vav




WM —65
IND—=D g

:
RitES HmEFES i an % i) fE £ 1 =l

ASY | JWMOGSASY |7 —YaAf v+ WM-—65 1

1 JWMO651ASY | YVaAf v A vF+23 WM—65 1

2 JWMO0652 VaAd vkt 794573 WM—65 1

3 JPYWM vrvyEa—-s (WM 1

4 JMDASY Z%4 5 (MD) (7 3)  AS205 3

5 JCYM C.va-s O 1

6 JFYWM Zavrevza—y Avy (WM 1

7 JMD0651 NAT A vF MD—65 1

8 JPCI4ASY s vrEYy 23 (14) 2

9 JWMO0653 TFYEYAN— 4 vF WM—65 1

10 | PS100065 27Y) v ey 10X65 1

11 JPYMD vryysa-s (MD) 1

12 JYPMDO065 WA Ty FI - MD—65 1

13 JMD0654 TrvEYRN—- Tus MD—65 1




TL48A —040
IND—=D a2k

~_
[ootte |

RiES| HEES & b % PR %L Ui
ASY | JTL4A8AQ40ASY | ¥Ya A4 v+ 2 3 TL48A—40 1
1 JT48A0401ASY | Va4 v b A vF 273 TL4ASA—40 1
2 JSEQ402ASY YaAvh Tuys i SE-40 1
3 JTL48A b7 Yy sy 73 TL4SA 1
4 JSEASY 2NA4 5 - 3 SE AS100 2
5 JFYSE1 TJawvTFavsa—2 Av¥+ (SE) 1
6 JSE0401 NA T A vF SE—40 1
7 JSE0403 TYEYAN— 4 vF SE—40 1
8 PS100065 A7) vy 10X65 2
9 JPYSE vryyFa—z (SE) 1
10 JPC14ASY 75vrEY 73 a4 1
11 JFYSE2 Ta49wT4vya—s 7Tvs  (SE) 1
12 JSE0402 A7 7oy SE—-40 1
13 JSE0404 TvEvAN— FTuy SE—40 1







S—080604D

MU E R PR

[ LU = 5 PR

BRAE R

i s =R

066-8555

066-8555

070-8004

098-4100

080-2462

086-1152

028-3172

983-0013

323-0158

700-0973

861-8039

885-1202

F W LRI O 6 1 F # 2

TELO123-26-1123
FAX0123-26-2412

TR LEEH#H 1O 6 1 F # 2
TELO123-22-5131
FAX0123-26-2035

BN HME4L5L£9 THIFEIILF
TELO166-61-6131

. FAXO166-62-8985
RIENEENFEZEYORY1191F#H44
TELO162-82-1932
FAXO162-82-1696

WLV 2241 TH12%F# 4
TELO155-37-3080
FAX0155-37-5187
ZEMAEEINGEIT 2 TH16 % 2
TELO153-72-2624
FAX0153-73-2540
EFEET AR FME11HE 12073
TELO198-46-1311
FAX0O198-45-5899
BREMETERFEXPEEMHE179-1
TELO22-388-8673
FAX(022-388-8735

oA B A fmR 2512 -1
TEL 0285-49-1500
FAX0285-49-1560
BIERMILTE FTHH 704-10 3
TELO86-243-1147
FAX(086-243-1269
RRAERATEETEITE2E 1 5
TELO96-381-7222
FAX(096-384-3525
EIEEER ST S A 1003 -2

TELOS86-53-2222
FAX0986-53-2233



